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1 (S TN & IR, 21042 1 kksstokokkk00 14 27771 Ikksstokokkk 1 086 50 5.4 30% 451. 98
2 fiEt k| IR 21042 1kskskskskekk (0037 27771 Ikskskeksrskokok 1083 95 22.2 30% 1858. 14
3 FaEy= B RIS H 21042 Lkt 002X 277700%kskskkskkk57 98 10.5 30% 878. 85
4 2 =N 21042 1kskkskkskksk(0022 27771 kskekskskekskak 99 5() 80 8.6 30% 719. 82
5 BEYEE =N 210421 *kkkkskkkk(00 17 27TT00%skskdkskskk 1 4 90 9.7 30% 811.89
6 JE* B IRE ) 21042 1sksskskskekk%0016 621449k 84084 90 21.6 30% 1807. 92
7 A BRI 21122 1 kskskskesksksksk 331 1 62144 9kskskkskeksksk 6721 1 90 9.7 30% 811.89
8 JREE N =N 21042 1kskskkaksksksk(00 15 277700%sksk4kskokskk4 4 90 9.7 30% 811.89
9 T < ARF B IRE ) 21122 1sksskskskekskk 3923 277700%kkkk3%k%%9() 90 9.7 30% 811. 89
10 7% B IR 21042 1kskskkkkk0019 2777005 kkkk4kk4 3 90 9.7 30% 811. 89
11 kT & IR, 21042 1skktokk4k0014 277700k 4k k4k68 90 9.7 30% 811.89
12 Exff RN 21042 1xxkkkekx%00 15 277700%kskskkkekk44 90 9.7 30% 811.89
13 EIE B IR 21042 1 ksksksiskerskok00 1X 27T700%skkkksk5kx88 90 9.7 30% 811. 89
14 = B IRISH 21042 Ikstokstokotskk 001 1 27T700%kkskkk34k7 18 98 10.5 30% 878. 85
15 =i =N 21042 1 skskskskakoksk(00 12 62144 9kkskskkkkk 47719 90 21.7 30% 1816. 29
16 {5 B IRE ) 21042 1skskskskskeskk (0012 2T7700%kkkk%k4x98 90 22 30% 1841. 40
17 FxH = IR A 21042 1ssksksrskekskk (0047 621026%kkk3kkk%4 2944 20 2.2 30% 184. 14
18 e =] 21042 1 kskskkskeskskok 0017 27771 I skskkskskskk 3968 12 1.3 30% 108. 81
19 i IR 21042 1skskekskskekk (0017 2777005k kkk%k4%23 90 9.7 30% 811. 89
20 MR = IRE ) 21122 1kskskskskk% 3917 2777005 kkk%k4%7 6 30 3.2 30% 267. 84
21 Ji s U = IR A 21042 1skssksikekkk0 01X 27T700%skkskksk3k%40) 10 1. 1 30% 92.07

22 ok = IRE ) 21042 1kskskskskkk00 10 277700%kkkk%k4%8() 10 1.1 30% 92. 07

23 2K, & IRE ) 21042 1kskskkskkk0019 2777005 kkk%k4k85 11 1.2 30% 100. 44
24 Ak =N 21042 1kkskskskskokk(00 16 621449kkskskskkkk63574 20 2.2 30% 184. 14
25 TR =N 21042 I skskskskekoksk 2813 621026%kkkkkkk81 728 30 3.2 30% 267. 84




26 Fxily 4 21042 1sskskskskekokk 0036 277700%kkkkzkk%k 30 20 2.2 30% 184. 14
27 JE % X 4 21042 1kktksk4k003 2 621026%kk4kk4k47265 20 2.2 30% 184. 14
28 fA[yT. = 21042 1Hskskstestesteoksk 003X 2777004 kkskskekekk 1 5 10 1.1 30% 92.07

29 FxRE 4 21042 Tkskskskskekokk (0013 27281 Lkskskskekekekk 9488 30 3.2 30% 267. 84
30 TRk AE = 22052 1 skskkkokkk 7412 277110%kx445%k%%800 20 2.2 30% 184. 14
31 CiR ) B 21042 1xk4kk%kx%0025 27771 Ikkxtokkx%6089 10 1.1 30% 92.07

32 Rx1E =4 21042 skskkkkokx 001 1 277T00%kx4kkx%3 40 4.3 30% 359. 91
33 PUE S = 21042 1kststokork 0024 62144 9%kkt0kkx k49111 20 2.2 30% 184. 14
34 pAES Y =4 21042 1xskkkskkkk003 1 27771 1xskkdokkkk0283 91 9.8 30% 820. 26
35 154 = 21042 1Hskskskskeskekk (0039 27771 THkskekekekekk 3460 60 6.5 30% 544. 05
36 A5k 4 21042 Tskskskskskekekk (0022 621026%kkkskskkx(03462 90 21.6 30% 1807. 92
37 B 4 21042 1keksksksterskek 0017 277700%kkkkk%k% 39 20 2.2 30% 184. 14
38 E*E B 21042 1kxk4kk%%0037 27771 Ikksxtokkx%8437 30 30% 267. 84
39 R kd 4 21042 Tsskskskekekoksk 0057 27771 Lkkekekekekk 5666 30 30% 267. 84
40 Tk 4 21042 1kekekeksterskek (0018 277700%kkkkk%%k80) 99 30% 887. 22
41 Exfk B 21042 1kxk4kk%%0017 277T00%*kkkkx%%92 50 30% 451. 98
42 Fxig = 21042 1skskskskekekk (001 2 2777004 kskskskskokok 7 2 20 30% 184. 14
43 %32 4 21042 Tskskskskstkekokk 0020 277700%kskskskskekek7 3 40 30% 359.91
44 FxHf = 21042 1Hskskskestestesksk 001 1 2777004 kskskskokokok ] 3 66 30% 594. 27
45 Pk 7 = 21042 1Hskskskstesteskesk 001 1 2777004 kkskskekekek 75 50 30% 451. 98
46 o = 21042 1kkt0kkx%001 4 27771 Itttk k6282 20 30% 184. 14
47 ot = 21042 1 kkkkkx%0036 621026%x+%k*kxx80316 80 30% 719. 82
48 BEEPS =4 21042 1Hskskstestesteskek 002 1 621026%kkkskskkk4 3405 98 30% 878. 85
49 [=€F = 21042 1 skskskdokokx:001X 621026%kk4kkx%89147 10 30% 92. 07

50 i 4 21042 1ksksksksteiskek 0020 621449kkkskkkkk (09616 20 30% 184. 14
51 Fx[H = 21042 1Hskskstestestesksk00 1 X 2777004k kkskekokk88 20 30% 184. 14
52 Xl ZE =4 21042 1xx4kk%%%0035 27771 1kkkbokokx 3688 30 30% 267. 84
53 +x = 21042 1kskskskskskskek(001 3 27771 Tkskskekekekekk 1863 15 30% 133.92
54 FxE = 21042 1kx48kkx%003X 27TT00%kx4kkx%7 | 20 30% 184. 14
55 XlJ* =4 21042 1kxk4kk%%0019 277700%k4kkk%%9 | 20 30% 184. 14




56 (CIEY AN = 21042 1kskkstkkkx001 7 277700k8kkkk%44 20 2.2 30% 184. 14
57 Tk 4 21042 ksksksieiekekok(00 1 X 27771 1 Rkekekekekokk 9268 30 3.2 30% 267. 84
58 {x A B 21042 1skkxkkkx%0010 277T00%*kkkkx4%62 30 3.2 30% 267. 84
59 PN = 21042 Tkskskskskekskk (0015 27771 Lkskskekekekekk ] 498 20 2.2 30% 184. 14
60 Fe 4 21042 ksksksksiekekak (0052 277700 kskskskskkk6 | 20 2.2 30% 184. 14
61 firExZE = 21042 15skskskskekekk (001 3 2777004k kskekokkG 7 20 2.2 30% 184. 14
62 (EEN =4 21042 1skskkkkx%0013 27771 Ikksxtokkx%0408 20 2.2 30% 184. 14
63 Xk 4 21042 Tskskskskskekekk (0012 277700%kkkskkkkbh 20 2.2 30% 184. 14
64 Fxil = 21042 1Hskskstestesteskek00 3 1 2777004k ks kkekekk6H 10 1.1 30% 92.07
65 Boepk =4 21042 1 kkxkkkx%0018 277T00%*k4kkx%%93 20 2.2 30% 184. 14
66 Tk 4 21042 Tsksksksksksksksk 0017 27771 Lkskskskekekekk 5468 45 4.8 30% 401. 76
67 JE* 0 4 21042 1keksksksksieskek(00 1 1 277700%kkkkk%%9 3 22 2.4 30% 200. 88
68 fitEx T = 21042 1skskskskekskk (001 3 2777004k kskskskokok4 7 20 2.2 30% 184. 14
69 xR = 21042 1xxkkkkxx0014 27TT00%xx4kkkx%46 20 2.2 30% 184. 14
70 1[I 4 21042 1kskskeksterskk (0010 277700%kkskskskekk 04 30 3.2 30% 267. 84
71 2kt B 21042 1 kkkkkx%0013 277T00%*kx4k*kx%04 40 4.3 30% 359. 91
72 PPE L =4 21042 1skkkkkx%0015 277T00%*kkk*x4%59 30 3.2 30% 267. 84
73 A = 21042 1xk4kkkx001 2 277700kkA48kkx%7 20 2.2 30% 184. 14
74 (EEZIN =4 21042 1 kksxkkkx 0017 27771 Ikksxstokkx4195 30 3.2 30% 267. 84
75 fite AL =4 21042 1 kkxkk%kx%0016 277T00%*kkkkx%%29 30 3.2 30% 267. 84
76 Fx 4 21042 Tkskskskskekekek (0012 2777003k kskskskekek 54 10 1.1 30% 92. 07
7 (eSS 4 21042 1kskskekekesiskk 0036 277700%kkkkk%kk66 20 2.2 30% 184. 14
78 Ak = 21042 15skskskskskokk (001 2 27771 Tkkekekekekk 2653 40 4.3 30% 359. 91
79 ey 4 21042 Tkskskskskekekk (0013 27771 Lkskskekekekekk6402 20 2.2 30% 184. 14
80 fRx 4 21042 1kskskekekeiskok (0099 277700%kkskskskekkH 2 20 2.2 30% 184. 14
81 F*x = 21042 15kttt 0050 2777004k kskekokk 37 20 2.2 30% 184. 14
82 ZET N = 21042 1x5kk4%4%0010 2777004k 4kk4%k34 20 2.2 30% 184. 14
83 Fokouk 4 21042 1sskskskskekoksk005 1 27771 Lkkskekekekekk 3765 80 8.6 30% 719. 82
84 Bexpk = 21042 1k x%0036 277T00%*kkkkx4%62 20 2.2 30% 184. 14
85 (EET= =4 21042 1skskksokx 0012 277T00%*kkkkx4%T9 20 2.2 30% 184. 14

~




86 LY 4 21042 Iksskstokkx001 1 27771 Ikkskdokdk k8216 20 2.2 30% 184. 14
87 B&x% 4 21042 ksksksksiekekak 001 3 277700%kkskskskekek 54 20 2.2 30% 184. 14
88 (EEY)3 B 21042 1 kkkkkx%0015 27771 Lksksxtokkk:7285 20 2.2 30% 184. 14
89 EEIKl 4 21042 Tkskskskskekskek (0032 27771 Lkkskskekekekk 3285 40 4.3 30% 359.91
90 ZIEYIN 4 21042 ksksksksiekkak 0015 277700%kkkkkkk46 30 3.2 30% 267. 84
91 (EEZIN B 21042 1 kkxkkkx%0058 2TTT00k*kkkkk4%T T 30 3.2 30% 267. 84
92 15[l = 21042 1xkkkkk4:001 1 2777004k 4kx4%00 15 1.6 30% 133.92
93 Foxfa 4 21042 Tskskskskskekekk (0012 27771 Tkskskskekekekk 8488 50 5.4 30% 451. 98
94 Fpk =4 21042 1 kkxkkkx%0010 2777005k 4%k x4%63 20 2.2 30% 184. 14
95 Trx =4 21042 skkrkokokx 003 x 277T00%*kk%kx4%03 50 5.4 30% 451. 98
96 VI 4 21042 Tkl 0026 27281 Lkskskekekekekk (021 3 15 1.6 30% 133.92
97 VT S 4 21042 ksksteksiekokk (001 3 277700%kkskskskkk 38 98 10.5 30% 878. 85
98 FxNF = 21042 1Hskstestestestesksk00 1 X 27771 THkkekekekekk 4036 50 5.4 30% 451. 98
99 FHx 4 21042 15skskskskekokk 0019 277700%kskskskskekk4 5 30 3.2 30% 267. 84
100 BH*ES = 21042 1tttk 004X 621026%kk4kkk 46564 20 2.2 30% 184. 14
101 Fxig = 21042 1Hskskestestesteskesk 0014 277700k kkskekokk 94 30 3.2 30% 267. 84
102 [ A =4 21042 skskkkkokx 001 1 277T00%*k4kkx4%88 20 2.2 30% 184. 14
103 Bl 4 21042 Ikskskskekekekk (0062 27771 Lkskskskekekekk 94 37 90 33.6 30% 2812. 32
104 ] = 21042 15skskskekekekk (0023 2777004k kskskekk 50 66 7.1 30% 594. 27
105 +x =4 21042 13skskskskekokk (001 3 277700k kskskskokok 74 80 8.6 30% 719. 82
106 JpRok % 4 21042 Tskskskskstsksksk 0017 277700%kkkkk%k06 30 3.2 30% 267. 84
107 e 4 21042 1kekekeksterskek (0018 277700%kkskskskekk b7 22 2.4 30% 200. 88
108 VIEE S5 = 21042 1skskskstestsksk 0010 277700k kkskekekek 54 15 1.6 30% 133.92
109 FHH7E 4 21042 Tkskskskskekskek (0012 277700%kkskskskekek (04 40 4.3 30% 359.91
110 B 4 21042 1kskskeksterskk (0018 277700%kkkkkkkb b 90 9.7 30% 811.89
111 [ EYER B 21042 skskkkkokx 001 1 277700k 4%k x%%66 60 6.5 30% 544. 05
112 Bk X =4 21042 1skksxkkkx%0010 277T00%kx4k%kx%9 90 9.7 30% 811.89
113 X = 21042 1 sskkkkx%0058 27TTT00%x4kkk%%67 60 6.5 30% 544. 05
114 EXxAF = 21042 1xkkkk4%0039 2777004k 4kk4k22 70 7.5 30% 627.75
115 ZEk =4 21042 1skskkkkx %0013 277T00%kx4kkx%34 50 5.4 30% 451. 98




116 EEFRS 4 21042 15skskskskskskk 0018 277700%kskskskskokok 7 1 15 1.6 30% 133.92
117 PR = 21042 Itttk (00 1 2 277700%kAk4%k% 27 22 2.4 30% 200. 88
118 (T = 21042 1skskskskekekk (0032 2777004k kskekokk 08 15 1.6 30% 133.92
119 kL 4 21042 Tkskskskskekekek (0025 27771 Lkskskskekekekk (0429 30 3.2 30% 267. 84
120 Fx X =4 21042 Ikstokstokatskk 0019 277700335k | 20 2.2 30% 184. 14
121 e = 21042 1Hskskskskestsksk 0050 2777004k kskekekk 26 80 8.6 30% 719. 82
122 FxfE = 21042 1skskskstestsksk 0010 2777004 kkskskskekk 10 35 3.8 30% 318. 06
123 Kk 4 21042 1sskskskekekskk 0019 27771 Lkskskskekekekk (0969 50 5.4 30% 451. 98
124 VIEES i = 21042 15skskskeskestesksk 0014 27771 Tskskekekekokek 1 428 80 8.6 30% 719. 82
125 Kk ZE = 21042 13skskskskestskk 0010 2777004k ks kkekekk4 6 20 2.2 30% 184. 14
126 T 4 21042 1skskskskskskskk 0018 277700%kkkskskkkbh 20 2.2 30% 184. 14
127 Rt 4 21042 1keksksksksieskek(00 1 1 27771 1 Rkekekekekokk 3630 60 6.5 30% 544. 0b
128 FAEFR B 21042 1 kkkkkx%0015 277T00%*kkkkx4%1 0 20 2.2 30% 184. 14
129 B 4 21042 Tskskskskskekk 283 1 27771 Lkskskekskekekk 247 3 20 2.2 30% 184. 14
130 Tk 4 21042 Iksksksieiekekok 002X 621449kkkskikkk 73020 30 3.2 30% 267. 84
131 Tokbt = 21042 1skskstestestesksk00 18 2777004 kkkskekekk 30 50 5.4 30% 451. 98
132 ZER IR =4 21042 skksxtokkx:0034 621449kkx4kkx%49730 60 6.5 30% 544. 05
133 Tofh 4 21042 1skktokak4k002X 27771 1skkdokkdk(0267 20 2.2 30% 184. 14
134 (P =4 21042 1 kkxkkkx%0016 27771 Ikkxtokkxx8082 70 7.5 30% 627.75
135 1&xT = 21042 1xkkkkk4%0017 27T700%k*k4kk4k59 20 2.2 30% 184. 14
136 VRN 4 21042 Tskskskskstsksksk 0017 277700%kkkkkkk05 40 4.3 30% 359.91
137 FxK 4 21042 1ksksksksterskk00 17 277700%kskskskskekek 77 30 3.2 30% 267. 84
138 FxE = 21042 1Hskskstestesteskesk 0017 27771 Tkkskekekekekk 241 1 50 5.4 30% 451. 98
139 EEN 4 = 21042 Ikskskskskekekk (0055 27771 Lkskskskskekekk 7402 20 2.2 30% 184. 14
140 ok 4 21042 ksksksksieskakak 0015 277700%kkkskkkk63 80 8.6 30% 719. 82
141 XK = 21042 1Hskststestesteskesk 0017 2777004k kskekekk6H 40 4.3 30% 359. 91
142 Fx =4 21042 1Hskskskstestsksk 0010 27771 Tkskekekekekk 461 7 50 5.4 30% 451. 98
143 X% = 21042 1xskkkkk%%0017 2777004k 4kk4%2 | 10 1.1 30% 92.07
144 X1k = 21042 1Hskskskstestesksk 001 1 27771 Tkskekekekeksk 909 1 50 5.4 30% 451. 98
145 FxK = 21042 1skskskskekekk (0032 277700k kkkekekek64 70 7.5 30% 627. 75




146 FxiE = 21042 13skskskskeskesksk 001 1 27771 Tkkskekekekkk 3668 50 30% 451. 98
147 ki 4 21042 ksksksieiekekok(00 1 X 6210263k kkkskkkk8 2254 50 30% 451. 98
148 Jox L = 21042 1Hskskskstotekk 0066 2777004k kskekekk 39 50 30% 451. 98
149 Bx i = 21042 1kxk4kk%%0019 2777004k k%42 20 30% 184. 14
150 Ik =4 21042 1sskskstokatok 004 1 62144 9kkkskk4k461 781 90 30% 1807. 92
151 A B 21042 1kxk4kk%%0019 27771 Ikksxtokkx%0950 35 30% 318. 06
152 W= =4 21042 1kx48kkxx0034 27771 1xk4bkk k%8080 60 30% 544. 05
153 Kk ZE 4 21042 15skskskskekskk 0010 277700%kskskskekekk02 98 30% 878. 85
154 H A = 21042 1%kk4kx40013 2777004k 4kk4%09 50 5.4 30% 451. 98
155 gk 11 = 21042 1Hskskestestesteokk00 34 277700k kkskekekk 94 20 2.2 30% 184. 14
156 WAt 4 21042 Tsksksksksksksksk001 1 277700%kskskskekokk9 80 8.6 30% 719. 82
157 Kk 1] 4 21042 ksksteksiekokk (001 3 277700%kkskskekekk62 80 8.6 30% 719. 82
158 PIKE = 21042 1skskskskekekk (001 2 2777004k k96 90 9.7 30% 811. 89
159 A4 4 21042 1sskskskekekokk0016 27771 Lkkskekekekkk 9508 50 5.4 30% 451. 98
160 Tk 4 21042 1ksksksksterskk00 17 6210263k kkskskkkk4 5434 60 6.5 30% 544. 0b
161 TERAL = 21042 1xkkkkk4k0044 27TT00%k*kAkk4k87 40 4.3 30% 359. 91
162 % 2 = 21042 1skskskstesteskesk 001 1 2777004k kskskekekok 75 55 5.9 30% 493. 83
163 N 4 21042 1sskskskskskeksk 0014 277700%kkkskkekk4 5 20 2.2 30% 184. 14
164 TokHY = 21042 1skskstestestesksk 0017 2777004k kskskekokk 79 45 4.8 30% 401.76
165 1% X = 21042 1Hskskskskskokk 0016 2777004k ks kkekekk68 30 3.2 30% 267. 84
166 s 4 21042 Tkskskskskekekk (0013 277700%kkskskskekk 7 h 60 6.5 30% 544. 05
167 F*xFH 4 21042 ksksksksiekekk 0032 277700%kkkkk%k%69 50 5.4 30% 451. 98
168 TxE5 = 21042 15skskskskskokk (001 2 27771 Tkkekekekekk6 359 90 9.7 30% 811. 89
169 L35 4 21042 1kl 0016 277700%kskskskekekk 32 60 6.5 30% 544. 05
170 ok A& 4 21042 1ksksksieiekekak (0014 277700%kkkkk%k09 50 5.4 30% 451. 98
171 LS = 21042 15skskskskekekk 0015 2777004k kskekekek 07 20 2.2 30% 184. 14
172 153 = 21042 1Hskskeskestesteoksk 0014 621026%kkkkskskkk80092 40 4.3 30% 359.91
173 sy T = 21042 1 sskktokokx%0028 277T700%kks4kkx%5] 20 2.2 30% 184. 14
174 TE sk F = 21042 1skskskstestksksk 0019 27771 THkkskekekekk 3890 20 2.2 30% 184. 14
175 (LSS =4 21042 1kkxkkkx%0010 277T00%*kk%kx4%00 80 8.6 30% 719. 82




176 sl =4 21042 Itttk (00 1 2 27771 Istokstokadokk 2050 20 2.2 30% 184. 14
177 kg 4 21042 1kskskeketeoskk 0016 277700k kskskskskkk ] 7 50 5.4 30% 451. 98
178 1% = 21042 1Hskskskestesteskk 0014 2777004 kkkskekekk 35 90 9.7 30% 811. 89
179 2 4 21042 1sskskskskskskk 0017 277700%kkskskskekek64 30 3.2 30% 267. 84
180 TRk G 4 21042 1kekskesksksieskek(00 1 1 277700%kkkkkkk46 20 2.2 30% 184. 14
181 ¥ = 21042 1x5kk4%4%0010 27TT00%k*k4kk4k35 30 3.2 30% 267. 84
182 TR =4 21042 skksxkkkx%0050 277T00%kx4kkx%54 20 2.2 30% 184. 14
183 Tk 4 21042 15skskskskekskk 0010 277700%kskskskekekk 33 30 3.2 30% 267. 84
184 x5 =4 21042 1skksrkokkx 0017 621026%*k*x4k*kx%03379 30 3.2 30% 267. 84
185 B =4 21042 sksksxtokkx:00 1 X 277T00%*kkkx4% 30 90 9.7 30% 811.89
186 ik = 211221tk 3923 621026%kk4kkk 82312 20 2.2 30% 184. 14
187 Tk 4 21042 kskskesksiekekak 001 2 2777004 kskskskskkk 4 | bh 5.9 30% 493. 83
188 R4 = 21042 15skskskskekekk 0015 2777004 kkskskskekk 79 20 2.2 30% 184. 14
189 (L3N = 21042 1kxk4kk%%0037 27T700xx4kk%kx%5( 30 3.2 30% 267. 84
190 Rk 4 21042 1kskskeksterskk (0010 277700%kkskskzkekk 20 60 6.5 30% 544. 0b
191 RGN = 21042 1%kk4kx40012 27771 1xkkdkk4%9638 20 2.2 30% 184. 14
192 Kk ZE = 21042 1Hskskskeskesteksk 0054 2777004k ks kskekokek 37 80 8.6 30% 719. 82
193 Kk 4 21042 Tsskskskskskskk 0019 27771 Lkskskekekekekk 6918 70 7.5 30% 627. 75
194 JiE 4~ = 21042 15skskskskekokk (001 3 2777003 kkskekekokek8 1 40 4.3 30% 359.91
195 A =4 21042 sksksxtokkx:0014 27TT00%kx4kkx%7 | 30 3.2 30% 267. 84
196 kit 4 21042 1kskskskskskskek (0012 277700%kkkkk%%k80 90 9.7 30% 811.89
197 iy 4 21042 ksksksksiekokak (001 3 277700%kkskskekekk02 50 5.4 30% 451. 98
198 Ji+ff = 21042 1xkktkk4003X 27TT00%k*k4kk4%16 50 5.4 30% 451. 98
199 Bk i B 21042 1xxkkkkxx0014 27771 1xxkkokokxx0183 90 9.7 30% 811. 89
200 W4 4 21042 1ksksksksteiskk00 17 277700 kskskskskkok 5 | 30 3.2 30% 267. 84
201 [ AN B 21042 1 #stskokiolk00 17 277700%k44kk k%22 20 2.2 30% 184. 14
202 Ji k2 = 21042 1Hskskskskeskekk (0039 2777004k kkskekekk49 50 5.4 30% 451. 98
203 FEf o] 4 21042 Tsksksksksksksksk001 1 27771 Tkskskskekekekk 3180 30 3.2 30% 267. 84
204 YL RIE 4 21122 1kskskekekekk 3939 2777004 kskskskskokok 7 2 50 5.4 30% 451. 98
205 {5tk HF = 21042 1Hskskeskestesteoksk00 1 X 2777004 kkskskskokok D7 90 9.7 30% 811. 89




206 B 21042 Iwkstsrkadark(0012 277771 Iwkdstkedark(090 1 10 1.1 30% 92.07
207 B 21042 Ikoktokatokk (0051 2TTT00FkkAkAk460 90 9.7 30% 811.89
208 =] 21042 rkatkatokx0034 277700k kkAkAK%KE6 50 5.4 30% 451. 98
209 =] 211221 #kkkkx%k%3933 2TTT00FkkAkAK %29 10 1.1 30% 92.07
210 B 21042 1skrkatkx0018 27TT00FkkAkA%49() 30 3.2 30% 267. 84
211 =] 21042 1tttk 0035 62 1026%kkkk4k482650 30 3.2 30% 267.84
212 =] 21042 1#kstkatokx0014 277700k kkAkAK%KDH6 20 2.2 30% 184. 14
213 B 21042 Ikkatkdark (001 1 27771 Ikkstokokok4 ] 18 30 3.2 30% 267. 84
214 =] 21042 1#rkstkarkx0015 62 14493kkk4k44 7073 90 45.5 30% 3808. 35
215 =] 21042 1#skatkatk:001X 277700k kKA K K92 90 9.7 30% 811. 89
216 B 21042 Iwkkatkdkaxk (018 2TTT00FkkAkAKKH3 90 9.7 30% 811.89
217 B 21042 1rsktkatkx0017 27T700%kAkkK ] 2 90 9.7 30% 811. 89
218 =] 21042 1#ktk4k0018 27771 Prkatoktkk8980 10 1.1 30% 92.07
219 =] 21042 14001 1 2TTT00FkkAkAKKT6 90 45.6 30% 3816. 72
220 B 21042 1rskrkatkx0018 277700k AT 20 5.4 30% 451. 98
221 =] 21042 1#ktk4kx0018 27771 Prkatokakk8380 50 5.4 30% 451. 98
222 =] 21042 1#rksrkkkx0013 277700 kKKK 2 90 9.7 30% 811. 89
223 B 21042 Iwkstsrktorkk(0014 277700k k4K G4 50 5.4 30% 451. 98
224 =] 21042 1rksrckarkx (0012 62 1026%kkkk4%k446846 90 9.7 30% 811.89
225 =] 21042 1#rktk4%k40076 277700k kkAkAKKEE 50 5.4 30% 451. 98
226 B 21042 Iwkkarkkrxk(018 277700 kA AK% 2 60 6.5 30% 044. 05
227 B 21042 rskarkatokx0014 277700 kA% k4K 29 20 5.4 30% 451. 98
228 =] 21042 rkatkatokx00 1 X 2777003k k449 | 50 5.4 30% 451. 98
229 =] 21042 1#kstktk:001X 277700 k%A A 2T 30 3.2 30% 267. 84
230 B 21042 1rsktkatkx0017 27T700%kAkkk ] 5 30 3.2 30% 267. 84
231 =] 21042 1kstkatkx0017 277700k k44 () | 30 3.2 30% 267. 84
232 =] 210404kkk4%k% 3626 6210263 kkkk4%482726 10 1.1 30% 92. 07
233 B 152103 kkskskkx4k | 813 27771 Hsrkstoktokk 1 539 30 3.2 30% 267. 84
234 =] 21042 1rksrekarkx0013 277700k %4k 494 90 9.7 30% 811.89
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